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1.

POLITICAL SCIENCE

Paper - il

“The political theorist is essentially
concerned with the discussion of what
ought to be. His judgements are at bottom
value judgements.” Who said this ?

(A) Leo Strauss (B) David Easton

(C) Alfred Cobban (D) Hannah Arendt

. Match List — | with List — Il and select

the correct option from the codes given
below.

List -1 List-1I
(Advocate) (Argument)
a. Peter Laslett i. Revival of

Political Theory

b. Alfred Cobban ii. Decline of
Political Theory

c. Neal Riemer iii. Death of Political
Theory

d. Dante Germino iv. Political Theory
in the doghouse

Codes :
a b ¢ d
(A) i i v il
(B) iii i v
(C) i i v
(D) i v i
. Which of the following is not an essential

characteristic of liberal political theory ?

(A) The State is man-made and
necessary

(B) The State is natural and organic
(C) The individual is the bearer of rights

(D) Freedom is the natural condition of
man
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4. Match List — | with List — Il and select
the correct answer from the codes given

below.
List -1 List - I

(Concept of Justice) (Thinker)

a. Justice as the i. Robert Nozick
interest of the
strong

b. Justice as one
person, one
duty, one class,
one work

c. Justice as
entitlement to
use ofﬂpersonal
roperty as
geeeneél’ fit

d. Justice as
proportionate
equality

Codes :
a b c d

(A) i il ivo i

(B) i v i iii

(C) v i i ii

(D) iv i ii i

5. Which of the following statements is/are
true of positivism ?

ii. Aristotle

iii. Plato

iv. Thrasymachas

a. Positivism aims to be value free and
ethically neutral.

b. Positivism patterns itself on the
natural sciences in deciding about
the right and wrong of issues.

c. Positivism contends that statements
are to be empirically tested by
observation to assess their truth or
falsity.

d. Positivism affirms the place of
cultural preferences and practices
in the determination of the truth.

Select the correct answer :
(A) a,bandc (B) aandd
(C) a,bandd (D) only d
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6.

Who among the following differentiated
between being obliged to do something
and having an obligation ?

(A) H.L.A. Hart
(B) lIsaiah Berlin
(C) John Locke
(D) David Hume

Which of the following is not included
by John Rawis in his theory of justice as
fairness ?

(A) Veil of ignorance

(B) Distinction between ideal and
non-ideal theory

(C) Reflective equilibrium

(D) Principle of minimum

. Given below are two statements, one

labelled as Assertion (A) and the other
labelled as Reason (R). Select the correct
answer from the codes given below.

Assertion (A) : According to Karl
Marx, capitalism is essentially unjust
and exploitative of human labour and
therefore beyond correction.

Reason (R) : According to Karl Marx, the

exchange and valuation of human labour

by artificial capital is legitimate and just.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A)is true, (R) is false

(D) (A) is false, (R) is true
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9.

10.

11.

12.

Which of the following are a correct
representation of the features, of
conservative political theory ?

(A) Human imperfection; contractual
state; absolute equality

(B) Human perfection; absolute state;
revolutionary change

(C) Human perfection; absolute equality;
radical change

(D) Human imperfection; organic scciety;
tradition

Which of the following is not a feature of
the anthropocenic learning of ecological
political theory ?

(A) Man is positioned at the centre of
the conceptualization of all political
formulations

(B) Thelanguage of nature is understood
and recognized

(C) Nature has been transformed |

completely into natural resource

(D) The value of nature is measured
purely in terms of utility

Which of the following is an advice given
by Machiavelli to the Prince ?

(A) Total abstention from immoral acts
(B) Excessive generosity
(C) Moderate behaviour
(D) Excessive strictness

“The obligation of subjects to the
sovereign is understood to last as long,
and no longer, than the power lasteth by
which he is able to protect them”. Who
said this ?

(A) Thomas Hobbes

(B) G.W.F. Hegel

(C) Immanuel Kant

)
(D) Karl Marx
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13.

14.

15.

According to Rousseau, freedom is a
reality when

(A) People are represented by educated
and politically aware men

(B) People directly and actually take part
in the process of law-making

(C) People obey a sovereign leader
committed to the development of
society

(D) People have free and fair democratic
elections and audit

Below are two statements, one statement
is labelled as Assertion (A) and the other
statement is labelled as Reason (R).
Select the correct answer from the
choices given below.

Assertion (A) : In Rawls’ theory of
justice, the right is prior to the good.

Reason (R) : According to Rawls, the
loss of freedom for some is made just by
the greater good shared by all.

Codes :

(A) Both (A) and (R) are true, and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, (R) is false
(D) (A) is false, (R) is true

“Violence can destroy power; it is utterly
incapable of creating it.” Who said this ?

(A) Frantz Fanon
(B) Antonio Gramsci
(C) Mao Zedong

(D) Hannah Arendt
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16.

17.

18.

Which of the following is not among the
ideas advocated by John Locke ?

(A) Limited sovereign State

(B) Guarantee of natural rights of life,
liberty and labour

(C) Obligation to obey government based
on freedom and consent

(D) Equal and equitable distribution of
property

Match List — | with List — Il and select
the correct option from the codes given
below.

List-1 List -1l
(Author) (Book)
a. Jacques Derrida i. The Postmodem
Condition
b. Judith Butler ii. The History of
Sexuality
¢. Jean-Francois iii. Giving an
Lyotard Account of
Oneself -
d. Michel Foucault iv. Of Grammatology
Codes :
a b ¢ d
(A) i ii il v
(B) iv i ii i
(C) iv i i ii
(D) i iv il i

“A person may cause evil to others not
only by his actions but by his inaction and
in either case he is justly accountable to
them for the injury.” Who said this ?

(A) Jeremy Bentham
(B) J.S. Mill

(C) Karl Marx

(D) Antonio Gramsci
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19.

20.

21.

22.

Which of the following is not a concern
of Frantz Fanon’s political theory ?

(AY To justify the contribution of
colonialism as a vehicle for progress
in Africa

(B) Tocraftthemoralcore ofdecolonization
theory as a commitment to individual
human dignity

(C) To articulate a radical anti-racist
humanism

(D) To critique Europe’s pretensions to
being a universal standard of culture
and civilization

Which of the following thinkers rejected
the Marxist understanding of scientific
determinism by employing the theory of
hegemony ?

(A) Vladimir Lenin

(B) Louis Althusser

(C) Antonio Gramsci
(D) Simone de Beauvoir

Which of the following is not a purpose
of Dandaniti, according to Kautilya ?

(A) Acquisition of the acquired

(B) Acquisition of the unacquired
(C)
)

(D) Augmentation of the preserved

Preservation of the acquired

Who among the following identifies
nationalism in terms of allegiance to the
land as Pitrubhu and Punyabhu ?

(A) Aurobindo Ghosh
(B) V.D. Savarkar

(C) Rabindranath Tagore
(D) M.N. Roy

19.

20.

21.

22,

ol Ao g 519 Yototott A¥S\2
ANegia WA Frotc ol uReadg?

(A) st yad aiga a3
AreWetellEotl AdiEloia giwoll sAUY

(B) Qalkas ateiclla 34 uAA [o1v51
34 WAddle [loidio Rielidan

Afas siéell ot s}

(C) oRuél dudie RRAL HiogaEa
qiut udl

(D) gl wia AeAdiol A1dPIs

HIués gldieil YA Eefl
elarilel dsi sdl

ofld Vol sa1 RIURS 33
o Rigstia ) W aél Asfas
Rradcadiga osrll ?

A) cct iz Aoflot

B) ¢ weyuR

C) oo A
)

(
(
(
(D) R sl ofat

ARecaoll ad Hwol oflA Usloll 52
Esclldlol G a1efl ?

(A) AW 2iviea

(B) W o 2AUlEal

(C) AR aell uual

(D) Aucnacsdl gika

oA Nl et Avediey frques
Rigey 2ia yeraeel 2ied oy
U o5l 30 82 B ?

(A) M8 e

(B) dl.dl. s

(C) Allegotis 219N

(D) R4, ot AA

LU R e s e i



i

23.

24.

25.

“Indeed, in view of its function, religion stands
in greater need of a rational foundation of its
ultimate principles than even the dogmas
of science”. Who said this ?

(A) Jawaharlal Nehru
(B) B.R. Ambedkar

(C) Muhammad Igbal
(D) Ram Manohar Lohia

Which of the following pairs of books and
authors is an incorrect match ?

(A) Sudipta Kaviraj —The Unhappy

Consciousness

(B) Atul Kohli — The Burden of
Democracy

(C) Sunil Khilnani —The |dea of
India

(D) Partha Chatterjee — | am the People

Which of the following books is/are authored
by B.R. Ambedkar ?

a. Gulamgiri
b. Why | am a Dalit

¢. The Untouchables : Who were they
and why they become untouchable

d. Pakistan or the Partition of India

Select the correct answer from the choices
given below.

(A) a,bandc
(B) bandc
(C) Onlyc
(D) candd
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26. Match List — | with List — 1l and select
the correct answer from the codes given
below.

List - | List-1I
(Author) (Book)

a. Aurobindo Ghosh i. Savitri : A Legend
and a Symbol

b. Rammohan Roy ii. Tuhfat-ul
Muwahhiddin

c. Abul Kalam Azad iii. India Wins
Freedom

d. Sarojini Naidu iv. The Golden

Threshold
Codes :
a b ¢ d
(A) i i it v
B) iv i i i
(Cy iv i Wi i
(D) ii v Wi i

27. Which of the following Indian political
thinkers held the view that a crisis of
the world capitalist structure should be
expected from the side of the colonies,
not from the metropolitan centres ?

(A) Ram Manohar Lohia
(B) Jay Prakash Narayan
(C) M.G. Ranade

(D) M.N. Roy

26. A€)- | i A} il ofl gctoll 5 Vial oA

27.

x1Ndl Sis diel AR wdiol URle 5A

A1€)-1 A1€)-1
(Quis) (yRas)
a. MUE i. A1) : 2 AYos
Aos A fuacid
b.H AgoRIA  ii. gesd - 8a
yaigtlol
C. lofd sar A1s1E ii. oIl dlo
glsH
d. ANVl aiig iv. €l SNesol
Jdes
8sA
a b ¢ d
(A) i i i v
(B) iv i i i
(C) iv i il i
@) i v i

ool U s eiRdlA A¥Sl
RIURE AQ aa AL § J2dls
HAldl dructtdll sdsdlofl 2l
Aol uRe 2Auidl AYA, o ¥
AAW@2et 3ol uinl

(A) 2AAHoNER AR
(B) «uMSIU dRIACI
(C) 4.9, AaS
(D) AN, AA
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28.

29.

30.

31.

“Itis better to be violent, if there is violence
in our hearts, than to put on the cloak of
non-violence to cover impotence.” Who
said this ?

(A) Bal Gangadhar Tilak

(B) Vivekananda

C) M.K. Gandhi

(
(D) Jay Prakash Narayan

Who is the author of the book The Artic
Home in the Vedas ?

(A) Pandita Ramabai
(B) Bal Gangadhar Tilak
(C) Aurobindo Ghosh
(D) Rabindranath Tagore

Which of the following is not a principle
advocated by Nehru’s political thought ?

(A) Wall of separation between religion
and State

(B) Fabian socialism
(C) Democratic collectivism

(D) Non-alignment in international
issues

Which among the following approaches
basically involves studying of production
and trade and their relations with law,
customs and government as well as with
the distribution of national income ?

(A) Political sociology approach
(B) Political economy approach
(C) New institutional approach

(D) Post behaviouralism

28.

29.

30.

31.

“Udioll olyRisdial guigdi 212 idli10)
WA 22al sl seadi N B
oidl 1A A Bus weld qaR 3 B
i Rae 513 sy ?

(A) olidioner fads
(B) Rudsioic

(C) Au.8. el

(D) wa usiu dRrIRACI

‘a4 s A do €l AL A YrdSoll
duis Sial1 B ?

(A) \ilsal ai011¢

(B) altowiduur les

(C) M) €y

(D) eflogietits 21302

ofldott Vsl 53 cid3on Avsl HuRAH
yQuRd o2l ag?

(A) % da gdld ¥el sl daia
(B) ¥ollaet AnIwalE

(C) ciswmdl wygale
(D) diaingla ytiai o~ Asigtane

ofldoti Uslol s w2131 Yooy Ad
Bcuigat ol QAUR Vid Adoll SIAEI
vendiA wa A\ dal Al Biysd

gguell Aol Acielo) vieARl ST 87
(A) %S AavARAA 141
(

(C

)

B) awsla ueidolla 2ifdioia
) octol AengkA M1
)

(D) tggudoiaie



32. Arrange the books given below
chronologically (in the order of their first

publication). Select the correct answer
from the codes given below.

i. The Age of Nationalism by Hans
Kohn.

ii. Comparative Palitics : A Developmental
Approach by G. Almond and
B. Powell.

iii. A Framework for Political Analysis
by David Easton.

iv. Theories of Development: Capitalism,
Colonialism _and Dependency by
Jorge Larrain.

Codes :

(A) i, ii, iii, iv
(B) ii, iii, i, iv
(C) iii, ii, i, iv
(D) iii, i, ii, iv

33. What according to Gabriel Almond is
one of the input functions of a political
system ?

(A) Interest Articulation
(B) Rule Making

(C) Rule Application
(D) Rule Adjudication

34. Arrange the following concepts
chronologically in their order of
emergence. Select the correct answer
from the codes given below.

a. Feedback loop

b. Democratic centralism
c. Rule of law

d. Due process of law

Codes :
(A) a,b,c,d
(C) c,d,b,a

(B) b,c,a,d
(D) d,c, b,a

32. oo euldc yasla ddell M
ysitetoll 2 Na1d S@stis A sNsa,
o1 At S)s aiell ARD ¥dIw yAE 5.

i el Nor g Avoncllxsa - slo2A Slgot
ii. s34 WNdldlsy - 21 Saaeed
ANA ; Y. s va ol qaad

ii. 2 33ad R WHIsat Aonellflu -
3dls grea

iv. efladli Mg Baaudez - 3iaicllxy,
SRR U Hos A5l - NF ARIYe

8154

(A) i, i, iii, iv
(B) ii, iii, i, iv
(C) iii, ii, i, iv
(D) iil, i, i, iv

33, Soflua viepi~sdl W Yo 53 A undly
waelld As 2l qa B ?
(A) fsdg Gruirat
(B) (g fuscR
(C) Gendy wnidlsa
(D) Grod R ~ufus Gy R4l

34. iAot el Ryonicoiivilel daeil
Beoidoll ed slellejs@Pd Ad

aNsal.oflA ik SlgMisll Al
%4Io YA A

a. Mlaelg us

b. disangl bedlswL

c. SIuEIg] UlRAel

d. siaefl R« uba

Q.s%{:

(A) a,b,c,d
C)c,d b, a
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35.

36.

37.

Match List — | with List — Il and select
the correct answer from the codes given
below.

List -1 List -1l
(Theory/Approach) (Scholar)
a. Input-output i. Robert Michels
Analysis

b. Circulation of ii. David Easton
Elites

c. Iron law of iii. Gabriel Alimond
Oligarchy

d. Structural- iv. Vilfred Pareto
Functional
Approach

Codes :
a b ¢ d

(A) i il v

(B) i v i il

(C) iv i i i

(D) ii i iv il

C. Wright Mill's book ‘The Power Elite’
is a study of the politics of the fifties in
which country ?

(A) China

(B) United States of America
(C) USS.R.

(D) UK.

The German term ‘Herrenvolk’ was used
in the 19" century to justify

(A) Racism

(B) Democracy

(C) Colonialism

(D) Military dictatorship

35.

36.

37.

Aé)-1 ia A1E)-1l ol gdoil SAuA 1A
Adl SisA Aie) WA wdio YAE 8A

A1€) - | 1€l — 11
(Ricaria/21f013) (Qatet )
a. Rau-cidlaly i. Aot Qe
Ruesiia
b. 42flatcioley ii. 8cfls gea
N REEL]

C. AUCYAVAS Adiall ii. Aeflad vicis
dluigdl siuE)

d. da sl iv. Q&s wdld
ISR

SlsU:
a b ¢ d

(A i i i v

B) i v i i

(C) iv i i i

(D) i iooiv il

. age KicAq yds ‘el uiaR
Adl2’ 1cuodll ElASlAAl Sy Tl
awslzl..lch AOARY 52 B 7

(A) A
(B) zyut&'és RU g s
C) Y. JRA.JAR.

(
(D) ¥-8.

191 A4 3 wolot AGE“TaiNES” o)
GuAdi 58 didal cuivell Bgar A2
sAAHi Vi &d)l ?

(A) deudie

(B) cisandl

(C) *UlatdIE

(D) c2sdl rarmé
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38.

39.

40.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select the correct
answer from the codes given below.

Assertion (A) : According to Benedict
Anderson, nationalism emerged in Europe
with the start of Industrial Revolution.

Reason (R) : Industrial Revolution led to
the increase of GDP in Europe.

Codes :

(A) Both (A) and (R) are true, and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Which term did Harold Lasswell use to
describe a state dominated by military-
industrial complex ?

(A) Martial state
(B) Military state
(C) Hard state

(D) Garrison state

Who among the following scholars added
a category of ‘semi-periphery’ while
categorising the countries of the world ?

(A) Andre Gunder Frank
(BY Samir Amin

(C) Immanuel Wallerstein
D) C

38.

39.

40.

oflA A stioll ANd B el AAs et (A)
8 214 ofl siRei (R) 8. ofld 210a
Asuuidl AR wais uAe 5.

Rieaiot (A): AollSl52 RAasAotoll Hel WefUIR

Aeols siftofl A3 2018 YA
ALY IEaN Ged A,

sREI(R) : AeNofls silta A YAuai
0.9l #i glta ag.

SIS

(A) (A) 2ial (R) clod A4 B 44 (R)
A (A) ofl 20120l Ayl B

(B) (A) al (R) ciodl A1ui B uig (R)
A (A) ol A A1l arell

(C) (A)AR] B ug(R) vl 8

(D) (A) Wig B uig (R) 213 B

sRIes AMAA oflda V4] s¢ AstAel

dssdl - Alalls Aga 1 uenlfid
a%Aa qeifgal a2 GuAdr sAl 7
(A) ¥idla 222

B) Mcledl 22
(C) &S 222
(D) Nyl 2282

odldetl VAl sa1 Qe Ri2gon EMNaA
Aeflaca sl Aafl WA s ol Yol

6ad sal 7

(A) i JER §is

(B) AR utallo

(C) #Aoyic AR

D) A §29

(D) Celso Furtado (D)
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41.

42.

43.

The former Secretary-General of the UN
Mr. Kofi Annan propounded the idea of
Humanitarian Intervention. What did he
imply by that ?

(A) Intervention in a State to prevent
violation of human rights in that State

(B) Use of force by one State against
another during a natural disaster

(C) intervention by one State to prevent
infiltration from another State

(D) Aid given to a State during a natural
disaster

Who s the author of the book Globalization
and its Discontents ?

(A) Joseph Stiglitz
(B) David Held
(C) Samir Amin
(D) Walter Mignolo

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select the correct
answer from the codes given below.

Assertion (A) : European Union is
described as “post-Westphalian”.

Reason (R) : Maastricht Treaty (1992)
created an entity called the European
Union, to which its member-states have
partly transferred their powers.

Codes :

(A) Both (A) and (R) are true, and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A)is true, (R) is false

(D) (A) is false, (R) is true

41.

42,

43.

AYsa Argell ejayd aAsifug 4
81§ dooliol IRl HlelddIdIE]l &d Aol
Riural ulauilEd sacnati 241l &d. 201
fAUR wsned Al YA s &) ?
(A) A¥Atl GAIAY ¢RI W5 AVAAi
Hlold AllsRAe Geciuot AesIag
(B) gedl 2inud] exaflauial AAs A AR
oflol A% glA sl Gyl S24)
(C) oft1 usvatieh gieNdl vizsigai

HI2 As AV 4RI 6AAY Y4
(D) gedl virudl exPautet 2Avua

AR uyd)

S@loidigReUot Wos 2 SlUsetRH”
A Ycisol Auis Sl 3 7

(A) NAg AWaidleA
(B) 3clls des

(C) R iaflen
(D) Az Mool

ofld A s¥oll 2410 D Faiel As Rugial (A)

B d ofly sl (R) D. ol 210
AsuMidll AR vaie uie 5.

Risitel (A) : gAY “2Aeial 2ig] A22dlclluot”
a3 aelyqiai 2019 8,

sRI (R) : JIRs Al (1€€R) A 220
frafer 53 3. 3 YAl 2 s3anai

A B 3% Vel AGY A¥AD A¥dlof]
s Aides Al scdicdRd 58 B

sl
(A) (A) ¥4 (R) clod ARI B
210 (R) 2 (A) ofl 21Rf) ¥uycll 3
(B) (A) %1l (R) clod A1ui B uig
(R) A (A) ofl 2101 AUyl oiefl
(C) (A) 21y 8 ug(R) wvi§ B
(D) (A) vig B uig (R)ARr] 8
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44,

45,

46.

Which of the following statements is
true ?

(A) Realist theory of international
relations gives importance to the role
of international organisations.

(B) Theory of complex interdependence
is derived from the experience of the
European Community.

(C) Liberal approach to international
relations promotes the theory of
balance of power.

(D) Neo-liberal institutionalism brings
out the futility of institutions in
international relations.

What is the International Solar Alliance ?

(A) It is an alliance made by the
G-7 countries to collectively provide
solar energy to the developing
countries

(B) It is an alliance made by the
G20 countries to promote efficient
consumption of solar energy

(C) ltis an alliance made by the tropical
countries to promote efficient
consumption of solar energy

(D) 1t is an alliance made by the small
island countries to collectively
subsidise the use of solar energy

Which of the following statements is true ?

(A) The number of inter-state wars has
increased substantially after the end
of the cold war.

(B) Limited war is a war that ends in just
a few days.

(C) Separatist conflict strengthens the
territorial integrity of an affected
State.

(D) Insurgency is a form of intra-state
r

44,

45.

46.

ofluchiniell sy s&at AR] B ?

(A) @ignda Avee araqaidl fieaia
uigugﬁéla Ao5ellell efisia dHecy
20 3.

(B) YARuet Aol igieid uel]
%2 yRWR feRRaiod Rittia
Mivd &) 8.

(C) diaudla ool Beruidl
o Adioll Adgda Ricdida
Miciigel A B,

(D) oAdGER AWUIYIE HidRAN]
AoiENai AAofl ofledseut
delR cld 8.

AidRgly AR ANsir gf 37

(A) fusrilld 2ua 2y dd AR 6
yil uisal A2 -9 2N giy
sl 21dg Nsia 3.

(B) AR Guloil sii2a GuAldia
WRAIBa sd1 A2 ®-20 22
4RI s AAG Asiar B.

(C) AR Galent s1F21a1 GuAdtal McAIRd
sl 12 Gvusdloia 2 4RI
sl Adg ANsier 8.

(D) AR Gofoti GuAial 24Ysa dd

AoAdlsigfs sdl AR dioll Iy
2 s 2dg Nsia 3.

ofldonaiell 5y stiat AR B 7

(A) Ma Yea AHIRA olie iaR
vy Yeauoll Avaai aileint
fd gar ¥ B,

(B) sullka yea A Aq yea B F
adl &lst kaMai Y3 us ¥ 3.

(C) uddAdIdIg] Aad A2
AsAell Miells vislddia
yvojd 83 B.

(D) claailfl A Al Aiadls

war. yedg Hg WV B.
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47. Match the List— | with List— Il and select | 47, A1€1—1 21l €]l ofl getoti 8A 2al oA

the correct options from the codes given " ANl Aig e AR vaio WRie §A
below.
List—1 List- 1l €l - A€ -1l
(Theoretical Approach)  (Views on (Qeaildas wfna9)  (ARA 521
Globalisation) RQ RiuR)
a. Neo-Liberal -i. lttaccentuates the a. odGeRUIf) i, A AR wA AR
approach difference between 2[B1o13 A2 A aud B
the core and the
pefiphery. b. etct- HIRANE i, A ARY W3 D
b. Neo-Marxist ii. It is good only if it 2113 i} A AU Betal
approach promotes national WRiidld 52 8
interest
_ _ c. drdydidl i A ualazgla vou
c. Realist approach iii. It resul.ts in 21121 Rictizr i yRwIA D
ecological
destruction
d. wdlaReiaidl v, R dwlia, ved)
d. Environmentalist iv. It is inevitable, 21[B49134 o USK ;}gg {9
approach irreversible and geofly B
desirable AsA
Codes : '
a b c d a b ¢ d
A i i i v A i
®) i v i i | B) i v i i
(€ iv i i i (C) iv i i i
D) i v i i (b)Y i v il i
48. Which of the following statements is 48. ofldeniell sy s¥Ua AR] B ?
true ? (A) 8RYUA e AidAA
(A) Immanuel Wallerstein propounded Holett Gerratél Rucslidar yRWR
the Liberal Theory of International sl &l
Relations (B) &ledt WIAuEA wyRs
(B) Hans Morgenthau propounded the cteclelellEell feaida
principles of modern realism ulauilka sAl &d)
(C) Antonio Gramsci introduced the (C) Aedifor MUAA Bog ia ulefly
ideas of the core and the periphery ' RiuRa evid sl &d
(D) Woodrow Wilson propounded the (D) 99 fueAa ucioll daigaion
theory of balance of power Rigaida ufauifta sl &d)
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49,

50.

Three principles governing the
negotiations of the GATT continue to be
the principles governing the negotiations
of the WTO too. Which are they ?

(A) Decisions by simple majority,
acceptance or rejection of the entire
agreement, introducing agenda for
negotiation every year

Decisions by consensus, acceptance
or rejection of parts of the agreement
in sequence, completing agenda of
the previous round before moving to
the next round

Decisions by simple majority,
acceptance or rejection of parts of the
agreement in sequence, introducing
agenda for negotiation every year

Decisions by consensus, acceptance
or rejection of the entire agreement,
completing agenda of the previous
round before moving to the next
round

Which of the following statements is
true ?

(A) Habermas authored the book
“Imperialism — The Highest Stage of
Capitalism”

(B) Kenneth Waltz authored the book
“Politics Among Nations”

(C) Robert Keohane authored the book
“Neorealism and its Critiques”

(D) John Mearshimer authored the two-
volume work “The Modern World

System”

49.

50.

e qirzigid) AUla sl el
Ricsiial acd 25 2oMlaigBUoldl]
qizigndla yel juidla s 8.
A Riesid) sa1 8 7

(A) A€l cigadl s Piela, Ax

sRefl 2dlgla e udisla,

e a¥ qrige Hizdl sy
evid sl

AR ek, sacca dd Al
il <15l it 2d1gl, ol

ABGosHi wdl uBdi 1211Boll 2ABGosHl
silyPua yel sl

A8 ogad] s [, saoied
Ad sl el Il &l
wRdlgld, e2 a¥ aizianz el
siRIy R evid sl

ucin@ell e, a2 sl
disfa @&l vidlgf, ollv AGosHi
%¥dl uBdl idN1Bell AGosell SIRIY ua
yel sdl.

ofldotl aiel sy st A1) B ?

(A) oY “gadldlxa
slgAe V¥ §

Iletelloss Yods ot Qus 8

(B) 3qa Qiezs “Wdidlsa Aol A
Yai§ oll QWS B

(C) Aci€ 33Maiot ‘A0 A2ucllosn
Ues gex 12154 YRS ol
qvd 8

(D) ¥8lat lRRugR A el Avida
Yds ‘g HiSat ues Al

ol| iﬁui 8
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51.

52.

53.

India participated in which of the following
UN Peace Keeping missions ? .

(A) Yugoslavia
(B) Congo

(C) Palestine
(D) Cambodia

With which of the following countries
does India have the “Two-Plus-Two”
dialogue (dialogue of the Foreign and
Defence Ministers) ?

(A) Brazil

(B) US

(C) South Africa

(D) Germany

Given below are two statements. one
labelled as Assertion (A) and the other
labelled as Reason (R). Select the correct
answer from the codes given below.

Assertion (A) : India has accepted the
Tibetan refugees.

Reason (R) : India is not a signatory to
the 1951 UN Refugee Convention, nor
to its 1967 Protocol.

Codes :

(A) Both (A) and (R) are true, and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, (R) is false
(D) (A) is false, (R) is true

51.

52.

53.

ol1d UYscl A Aol oll SA
UlRishdlor Riiatati oo 1l &al 2

(A) yolreulQa
(B) Sla0

(C) Udzelgat
(D) soislu

oldoniaiell sa1 2 A1 eiRdd
‘g Wi gURidie 8 (42 4l 2Aae

Mgl ofl AdIE)?
(A) sifsd

(B) Y A,

(C) el@da kst
(D) «alofl

ol AN st A5 R (A)
8 2 oflf skl (R) 8. oA Nl
Sis aiel AR wdIed wie 5.
Rgiot (A) : [A2at 2RRUATAIA GIRA
1lsii 3.

SRR (R) : GIRA 1GY1 dil AYSA Avg

el sAR day Aol 1€5V ol

WMASA i1 cid Gu A8 sd e,

TR

(A) (A) 249 (R) clodl A1Ui D ¥ia (R) A
(A) ofl ARN A2%xdl 3

" (B) (A) il (R) oleal A1Ui B uig (R) A

(A)ofl ARN AnYcl a2l
(C) (A)RIR B uig(R) Wi 8
(D) (A) Wi B uig (R)AR] B
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54.

55.

56.

Which of the following is prescribed by

the Article 51 of the Indian Constitution

as the guiding principle of Indian Foreign

Policy ?

(A) Respect for territorial integrity of all
nations

(B) Promotion and maintenance of
international peace and security

(C) Promotion of disarmament and
rejection of arms race

(D) Non-interference in internal affairs of
other nations

Which one of the following is not included
in the Sino-Indian Treaty of 1954 ?

(A) Respect for international law and
treaty obligations

(B) Peaceful settlement of international
disputes

(C) Non-interference in internal affairs of
other nations

(D) Mutual non-aggression

Match the List — | with List — |l and select
the correct options from the codes given
below.

List—1 List—1i
(Type of Weapons) (Country of
Origin)

a. T-80 Battle Tank i. France

b. Mirage Combat ii. United Kingdom
Aircraft

c. Viraat Aircraft iii. Soviet Union
Carrier

Codes :
a b ¢

(A) i i i

(B) i i i

(C) iii i ii

(D) ii i i

54.

55.

56.

eirdla ciarRelefl sca ua ediRl YRua

ciiRadll 2audfldlo acfesls Ricsia

a3 olRAcnaiell s¢ clicid 8 2

(A) oeil el uithis 2ividarel
Alot AIug

(B) diaandly wifa 219 yreiid Miciled
sai duy wiadl Audi

(C) R:izAfls2eia MicRiigat iug ial
2RANofl uafa ¥isR Audl

(D) ollt 2andell 2idRs ciiciaai ga@dyo
EX0)

olAanatiell ¢ clicia 16Uy ol Ula-eiRa

At Aaaqiai 2l a2ll 2

(A) dlidRdA sRERDN 2ial Al
FAIGEIdRG il A

(B) idvdl xsasiilg ifyds
o{lRAsW

(C) ofii Aol AidRs clicidlai evid

o sdl
(D) uRUR [biot-iis3sall

1d)-1 A A1 ol dcioll SA vial ofiA
ANl 81gA Al ARN wdIol e
.
= - 28] -1l
(el uSR) (yata)
a. &-coyYea 208 i g
b. i yea fuala i Youeges
. (Fotsu
c. Rz Ratioicias iii. Alad
Ay
%BI¥
slsU:
a b c
(A) i i
B) i i il
() i i i
(D) i i il
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57. India objects to China-Pakistan Economic
Corridor —a part of China’s Belt and Road

Initiative because

(A) It passes through the Karakoram
range, an area under the de facto
occupation of China, but claimed by

India as its territory

(B) Strategically it is a threat to Srinagar-

Kargil-Leh highway

(C) It passes through Gilgit-Baltistan, an
area under de facto occupation of
Pakistan, but claimed by India as its

territory

(D) Strategically it is a threat to Manali-

Leh highway

58. Which of the following is an effect of the

India-US nuclear deal of 2005 ?

(A) India’s military reactors came under
international verification regime

(B) India’s civilian reactors came under
international verification regime

(C) India agreed to stop making nuclear

weapons

(D) India agreed not to use nuclear

energy

59. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select the correct
answer from the codes given below.
Assertion (A) : India and the Soviet
Union signed the Treaty of Friendship

and Cooperation in August, 1971.

Reason (R) : Emergence of the
Washington-Beijing-Islamabad axis
and brewing trouble in East Pakistan in
the late 1960s, changed the strategic

scenario in South Asia.
Codes :

(A) Both (A) and (R) are true, and (R) is

the correct explanation of (A)

(B) Both (A) and (R) are true, but {R) is
not the correct explanation of (A)

(C) (A)is true, (R) is false
(D) (A) is false, (R) is true

57.

58.

59.

oiRd “Yloi-villdia 2415 1953

% Ylotoll Az ia As UBd A B B —

AN gie) Gsic B sREl 3...

(A) A sRISRA gl AR UlA B
3 Yol BUR Ulalol YiRalus s B
Uig GiRd Ad Wdiel uge aldiel
eq) s 8

(B) <ygsicsis fd A Hedr-siRofla-Ae

glg/d A1 vidd B

(C) A aMasNe sucéleiol High uAR &y
8 % qrrdlus A visdictoll sovIi
8 uig eird A uZU Wdie) Aol

edl s3 8

(D) <«yeics Ad A Aondl-de aigd 213
vdA B

diAatiziiel s¢ clicid eiRd-AARSI

YW1 S2AR-200Y ofl A B 7

(A) GiRdoll cesdl AAs2A tiaudly
usrif ot BAHi el

(B) GiRdoll oidifRs {As2A AidAndl
usiRif ol AAHI il

(C) GIRA WA A9 Beulea oigl
sd1 Aula 2l

(D) eiRd waIR G¥icll Guadt of Sal
Al 2l

oflA AUNal sUNHI As Raia (A)

8 2a ol sRR (R) B. oA N

S aiefl RN w1 uRie s,

fugliol (A): @ilRd i WA ¥

AdIe-1cvrai Biridl a AGSR

dlicid A B &R salf,

sRel (R): 1EFoell ulsnell AN

QIR12201- AR¥2I-gadnice adlel Beoid

day yd uilkdicell A0dIdl A3AIA

e Ak ysics WRERM

URadal 21103,

S

(A) (A) via (R) cloal AU B Jia (R) A
(A) ol 201201 2a%dl B

(B) (A)=2ial (R) clod 11 8. uid (R) A
(A)ofl ARN %l a2l

(C) (A)AR] B uig(R)vIg B

(D) (A) vi}g B. uid (R) AR B
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60.

61.

Which of the following is an important
outcome of the visit of Prime Minister
Rajiv Gandhi to China in 1988 ?

(A) Agreement on the Line of Control

(B) Agreement on the Line of Actual
Control

(C) Agreement to form Joint Working
Groups on Defence

(D) Agreement to form Joint Working
Groups on boundary dispute

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select the correct
answer from the codes given below.

Assertion (A) : The Constitution of India
has established a republican democracy
in place of colonial and monarchical
system prevalent earlier.

Reason (R) : Indian anti-colonial
National Movement paved the way for
its emergence and evolution.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false

R

A) is false, but (R) is true

60. ofldountiell 53 1ece i dsiublol

61.

Av9ariefloll Aol Yeiisia of HEco]
uRenas 8 7

(A) [Risier vl R s

(B) drdls it i KA s

(C) dra)t a2 AYsa sriAYGel 2ot
Q sw

(D) M Rucne AR *AYsa siEduYE oll
Wl A RN

ofld icl sl As Rigie (A)
3 ua ofl§ srR@l (R) 8 olA 2N

Asaiell RN wdisl wRie s,

Risiiat (A): iRy ciard uddl
uadaier 2Wieicié] i A
ueiad GiEd uvRAdisS disidldll
Wivelt 53,

SRR (R) : Mol Geoid ia Besila 2

Ao AN wdla uaadi sl
vy sl

slsA:

(A) (A) 21a (R) cloal A1ui B 2lal (R) A
(A) oft AN Wl B

(B) (A) 2al (R) vlodl A4 B uig (R) A
(Aol 2R wuxd aell

(C) (A) 1R B uiq(R)wWg B
R) ] 8

(D) ( , but (R) (D) (A) v B. uig (
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62. Match List — I with List — Il and select | g5 a1d)-| 210 21d)-1l ofl ddoll 53 244 ofld

the correct option from the codes given 2l g aiell AR valo yaie 5
below. »
List—1 List -1 A1€] -1 21l -
(Author) (Statement) - (Qus) (Quuat)
a. Granville Austin i. “Directive " a Jadla wWde i “AUvadiftion
Principles of Aiesls
State Policy : Racend) Rienfye
are a veritable | - c1|°|eﬂasw[l,
dustbin of suAd] 8",
sentiment”,
b. K.R. Narayanan ii. “The b. Z.R.cIRIARIe ii. “ClERRI AR
Constituent HYucd sy
Assembly was €RI9d! 22l
& one party Asvafly Aei
body in an sdl”

essentially one
party country”.

c. D.E. Smith iii. “Itis not the o d.d.2fl iii. “clgrel Aneia
Constituticn Fsa o)
which has failed oflasy, A
us, it is we who GitiRRIa [Rgn
have failed the oflasa gl ”,
Constituticn”.

d. T.T.Krishnamachary iv. “Minorities d. A2 iv. Gy Ria
are natural Aiveils
custodians of ‘ A¥Ayoll aAPis
the secular Wdin B,
State”.

Codes : sl

a b ¢ d a b ¢ d
A) v i 0 i A iv i 0 i
® i v i i ®) i v i i
©) i i i v ©) i i i v
©) i @i v ©) i i v |



i2

63.

64.

65.

‘Karachi Charter was a forerunner of
(A) Communal Electorate

(B) Fundamental Rights

(C) Federalism

(D) Directive Principles of State Policy

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select the correct
answer from the codes given below.

Assertion (A) : The Parliament of India
gagnot be regarded as a sovereign
ody.

Reason (R) : Parliament’s right to legislate
is subject to judicial review.

Codes :

(A) Both (A) and (R) are true, and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Match List — | with List — Il and select
the correct option from the codes given
below.

List -1 List—-Hll
a. Electoral reforms i. Ashok Mehta
Committee
b. Panchayati Raj ii. Justice Sachar
Institutions Committee
c. Socio-economic iii. Swaran Singh
Welfare of Committee
Minorities
d. Judicial Reforms iv. Tarkunde
Committee
Codes :
a b ¢ d
(A i v i i
(B) iii i i v
(C) iv i i il
(D) ii i v

63.

64.

‘sl A2 ofid V) ol YAl & 7
(A) 81l AdeR¥sN

(B) yagid 2ifusid

(C) AH4RdA

(D) usvofidloil a3Teals Ricsid

oMlA vikdl saaxiel As Rigia (A) B

20 oflx sRE (R) B oflA 2110 Sigaiel

A1) Y410 YAE 53,

Rigiiet (A) : eiRdl 2iuea AIdaa e
CIETE KR

siel (R) : A sRAL) asdlol lusiz
S oifs wllauell oiiftia 8.
S5

(A) (A)2ia (R) slodl AU B, vial
(R) A (A) ot RN Auegel B

(B) (A) il (R) vlodl i B, uig
(R) A (A) ofl 2010 el orefl

(C) (A)u1R] B, uig (R) Wig B

(D) (A)viig 8, uid (R)A1Y

A18-1 via d)-11 ofl gcioil $A oA

65.
20d1 SisAuAif ARN waie URiE 8.
24 -1 -1
a. el Yyl i 2ieNs Agar Aff
b. juradiae ii. ordl2a 2w A
A1)
c. agufavllg i 2ael Ria Alila
Ailys
IR s scue!
d. oufus YR iv. gl Akl
81g3
a b ¢ d
(A) i iv il ii
B) i i i v
(C) iv i i iii
D) i i v



i

66.

67.

68.

69.

The power to decide the election petition
is vested in

(A) Election Commission

(B) Supreme Court

(C) High Courts

(D) Attorney General of India

The phrase ‘procedure established by

law’ means the judges in India

(A) cannot question the fairness or
validity of a law, if it is within the limits
of the Constitution

(B) can question the fairness or validity

of an undue law, even if it is within
the limits of the Constitution

(C) can declare a law invalid if in their
opinion it is unjust or unnecessary

(D) can prepare a draft law and submit
it to the Parliament

The power of Supreme Court of India to

decide the disputes between the Centre v

and States falls under

(A) Advisory jurisdiction

(B) Constitutional jurisdiction
(C) Appellate jurisdiction

(D) Original jurisdiction

Preamble enshrines the ideals of liberty,
equality and fraternity, inspired by the

(A) Bolshevik revolution

(B) French revolution

(C) Cuiltural revolution

(D) Anti-Apartheid movement

66.

67.

Yell 2iddfl dsA 2102 243 el
sdiefl dl Ao Wuwauni wacll 82

(A) gell v
(B) AdRU UEIdd

(C) 48] 2ieidd
(

D) dteofl ok 21§ glosul

stael eard 2Afud 51 veala’ Aed
ciRdHi oniieflaN.
(A) cigReid] aafeisi usiAdl sKIEIi

oduRfluel ua cqivoflyen /Y
2ol @1l A3 aifk

(B) diareldl aafelai usiAc AlfRsd
siaeloli AR a yivofluen [N
uRl Ul Geidl 23 B

*(C) Ratot Aa ¥t N Y 51 VioARA]

68.

69.

al B33 A A Aal Viaflody ¥IRR
sflas 8

(D) MRdifud SIIE QAR sdla 2AAed
A 23 8

Sog Via A¥A 4Well SiPut dasAd] aie
R 1o sRaidfl AGIRU veIEddd] 24-al

ofldoit Ryscuaie Asai A 3.
(A) Aciesd s~

(B) virzella srRiA

(C) 2dla a2 5133

(D) 3o s1IFA

Viiyuiai AAHIRv2 W, Adicidl did
cigjctioll iieeilof VeI &g
(A) NeRAs siloa

(B) siodll sifoa
(C) =izglas sifea
(D) PAE RIRAEN unqn
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70. Match List — | with List — [l and select | 70. 1€)-1 21a A1€l- 1l ol gcioll 8 ia) oflA Nl

the correct option from the codes given g aiell ARN ¥diol WiE 5.
below.
List -1 List—II aé) -1 1) -1
a. National Commission i. Founded on a. AU Alaid i, wod ﬂ 1eCWi
on Human Rights 17 May, 1992 wR 12 AR WUy
b. National Commission ii. Founded on b. 2ndl alka i. 1efl gl
on Women 19" February, AR 0073
2004 ¥y
c. National Commission iii. Founded on c. adly Gﬂ“ﬁ" ii. ¢l 21\.2'012
on Minorities 28" September, RN ;:ﬁls“ I
1993 3
d. National Commission iv. Founded on d. zlb{lﬂr%igejiﬁ:d . :‘wﬂza‘::lagbﬂﬂ
on Scheduled Tribes 31%t January, VoAl AR aﬁc -l
\“3
1992
Codes : Sig¥
a b ¢ d a b ¢ d
A) i v P i A) i v i i
(B) iv ii iii i (B) iv i iii i
(C) i iii ii iv (C) i iii i v
(D) i i iv i (D) i i iv il

71. Planning Commission was set up by a | 71. GiRkd s8R suddll 2ARNYol Ul

Government of India resolution in 2WUrvell saAR §87
(A) 1950 (A) 1950
(B) 1951 (B) 1951
(C) 1952 (C) 1952
(D) 1958 (D) 1953




125

72. Match List — | with List — Il and select | 72, 21dl-1 2ia A1€l- || ofl dcioti A ial oA el
the correct option from the codes given Siga aAiell ARN Fale WRie 5.
below.
List -1 List -l 1€l -1 €] -1l
a. Fifth Five Year i. Raising a. yiyafl yugyly i. WWABs
Plan industrial Aol GeUlEScllMi
productivity, qaR) A
promoting o1 2418 gltgial
growth with MGl
social justice
b. Sixth Five Year ii. Removal of b. ol yuadly i adlefl figrel,
Plan poverty, Aol oA, A%,
justice, vid Geulgol
employrnent, %la Qiiaiel ai
self reliance e Aelel
in agricultural
production
and defence
c. Seventh Five Year iii. Modernization © 31'2:‘"' Huada i Gmahﬂ
Plan of industries 2iglase
d. Eight Five Year iv. Economic d. Qﬂll&n Ul v, 2";{?"?’ Geidlsel,
. R Y|Yail 3
Plan liberalization, B it
poverty wiél Pis
eradication and icaldeRdl
technological
self-reliance _—
Codes o
a b c d a b (o d
(A) i iv i i (A) i v i i
(B) ii iv i iii (B) ii iv i iii
(C) iii i iiv (C) iii i v
(D) iv i i i (D) iv i i




i

73.

74.

75.

Liberalization, Privatization, Globalization
model of growth emerged during Prime
Ministership of

(A) Atal Bihari Vajpayee
(B) Narendra Modi

(C) Manmohan Singh
(D) P.V. Narsimha Rao

‘Bombay Plan’ was about

(A) State’s predominant participation in
economy

(B) Settling border disputes after partition

(C) Resolving Hindu-Muslim communal
tensions during partition

(D) Industrial development of the country
with private sector initiative and
share

The three oldest and most entrenched
regional political parties in Indian politics
are :

(A) DMK, Shiromani Akali Dal, National
Conference

(B) DMK, Telugu Desam Party, Yuvajan
Shramik Rythu Congress

(C) Aam Aadmi Party, Trinamool
Congress, Samajwadi Party

(D) Biju Janta Dal, Rashtriya Janta Dal,
Janta Dal United

73.

74.

75.

Gerdlsel, viloidfiszel ¢a APaselg Msd
Q usiuElcloll SITSIN €13Alel BEeicE A B,

(A) ¥ied (gl aivuig
(B) oidost Nl
(C) #otdileal RRie

(D) Wl.<fl. efRisny

N3 raitor'(oref Aevolt) sai A &dl.

(A) Avell 2&cati weid A

(B) ciridl udlen 218€] Riaidlg [arel

(C) edIa E3ulel &Acll [Bg-4RAM 8]
dgua fagrel

(D) v Aotell uBct ia eillerflell 2ol
Aefis fusiy

eirRdl A¥sREIH @1 A Yol al
63 ytll wsRdl wizRis Avdly ual B:

(A) IRNa3, RRaEN w514 e,
d2Adid Slo§roA

(B) dlAu3, dgay 2uat widl, Yol
2fis AAY NAA

(C) w3t 2ieafl widl, g S A,
Axivaié] widl

(D) ofi woictl €N, ASFA Feictt €A,
oidl £0 Yoliefes
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76. Match List — | with List — Il and select | 76. A1€]-1a AIE]- 1l ofl Cioll 5 ial oflA

the correct option from the codes given 2Ad1 SisHiell ARN wdIe yAE 5.
below.
List—1 List - II 218 -1 20€] - Ii
a. Bahujan Samaj Party i. Founded in . .
5012 a. oig¥ol AAIY UIET i 0931 &Y
b. Aam Aadmi Party ii. Founded in b unzedl widl i 1eecai vy
1998 3
c. ddamen 2u iii. 1¢<wai
c. Telangana Rashtra iii. Founded in AR % 1ecwa g
Samithi 1984
d. Trinamool Congress iv. Founded in d.qrrze 83 V. 20 0 Qi RAUUIY
2001
Codes : asa
a b [+ d a b c d
i 1 W W A i i v
B) i i v i B) i i v i
(C) iv i i i (C) iv i i i
D) i v ©) i v Qi i

77. How many national political parties | 77. 32cil 2ndla uall 201€edl Aisaiidf

contested the 2019 Lok Sabha election ? Yeel s &di?
(A) 5 (A) 5
(B) 8 (B) 8
(C) 1 (C) 11
(D) 14 (D) 14

78. Which one of the following books is not | 78. ol Vdlail yafaie 53 Yas udiy
' ? . .
written by Pratap Bhanu Mehta 7 ol #3ctl B el @y ?

(A) The Burden of Democracy (A) €l ciSel g Sas=]
(B) The Burden of Tolerance (B) €l vidot 2\ a‘.c.lz;,a
(C) Rethinking Democracy (C) AN s

(D) Navigating the Labyrinth (D) aAdlad> €l Aolldloe



i

79. Match List — | with List — Il and select
the correct option from the codes given

below.
List -1 List -1l
(Author) (Book)
a. Myron Weiner i. The Modemity of
Tradition

b. W.H. Morris-dJones ii. Party Politics in
India

c. Lloyd and Susanne iii. The Government
- Rudolf and Politics of
India

d. Granville Austin iv. Retrieving Times

Codes :

a b ¢ d
(A i i i v
By i i v
(C) iv i i i
@) i v i

80. Which of the following organizations
helped in the passage of Sarda Act,
Maternity Benefit Act and Hindu Code
Bills ?

(A) Bharat Stree Maha Mandal
(B) All Ladies League
(C) All India Women’s Conference

(D) Durga Vahini

79. -1 ol Add-112018 ddiali 5 vial oA
2dl SisAAHYd ARN vaIe URie 5A

) -1 ad) - i
(Aws) (Yets)
a. R dloiR i, el wse{ldl
25 2BUt
b. Solc-g.'ﬂ%i. i. yidl Gifadlgu
ARA-¥NoA glot gffos Al
c. oS vial Yrilel il el sl
351c§ Aos Widlélgy
ANg ¢losui

d. deidlg A2dlet  iv. AAdt 2igfa

Codes :

(A i it it v
By i i i v
©) iv i i il
O) i v i

80. ofld Udlol s¢ 2AeuA AREI AS2
A28 Aofifle Ase 14 (K Ss ical
YAR Sl HI2 HEE 59 7

(A) eiRd ] #enisn
(B) 2Na Al ellat
(C) Na dlesul iAo Slogoy

(D) gl ailkell
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81.

82.

83.

The principle of anonymity flows directly
from the doctrine of

(A) Legal responsibility

(B) Collective responsibility

C)
)

D) Professional responsibility

(C) Ministerial responsibility

(

Herbert Simon was the advocate of
(A) Historical approach

(B) Structural-functional approach

C) Behavioural approach

(
(D) Legal approach

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R). Choose the correct answer
from the codes given below.
Assertion (A) : The Community
Development Programme was launched
to secure total development of the
material and human resources of rural
areas.

Reason (R) : It was administered in
phases at five levels : National, State,
District, Block and Village level.

Codes :

(A) Both (A) and (R) are true, and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false

81.

82.

83.

Aaflueiiel Ricgia Alell Aa s¢
Riurar il g 8 ?

(A) SRIEISIA ¥dIGiErR]
(B) 2iysd waiverdl

(C) aiolRciell waisieid]
(D) cutau@s wdicierd

8018 A1Aa Vol Bruadl &ar 2
(A) AldeiRis 2213

(B)
(C)
(D) siRueIslA iMb1a1a

Alnvisia-siaicas i(diara
ddeidi€] ixia1a1

oflA ANdl st As [aia (A) 8,
2ia ofly siRel (R) B. oflA =Nl SsAaiell
AR ¥4It e 5.

Ragaot (A) : 20l ANai Alfs 2ia
Aol 2204 A 2Ayeiudl Rishia sl
2 A14eilis Risie si¥saoll A3
s udl edl.

sRel(R): i sRisHd dGISSIAR, A2 23,
A% 23, redl 2R, 6Als 23 d&l 2A13Y 23

AKX Uiy 2d? AAdAT YsAIAi i< &d).
sl

(A) (A) a (R) cloal A1i B 2ia (R) A
(A) ofl 2111 WAl 3.

(B) (A) 210l (R) cioal A1UI B uig (R) A
(A) ofl 201201 Al otefl.

(C) (A1 B uig (R) v B.

(D) (A) is false, but (R) is true (D) (A)vig B uig (R)ar] B



84.

85.

86.

Who among the following is the
author of the book “Ecology of Public
Administration” ?

(A) Robert Dahli
(C) Fred W. Riggs

(B) Ferrel Heady
(D) Max Weber

Transfer in the organisation refers to

(A) vertical movement of an employee
in the organization

(B) horizontal movement of an employee
in the organization

(C) upward movement of an employee
in the organization

(D) downward movement of an employee
in the organization

Match List — | with List — Il and select
the correct option from the codes given
below.

84.

85.

86.

Adoniaie S “ISidlY g ulbas
AsAfe1eo"y2ds ol Aus B ?

(B) 3a 38l
(D) AgA Ao

(A) A s§Le
(C) s soicy o

Aa150i3ti WiaticR (ciedl) A2a
(A) 2Adrsctati sUd doizu kauid

(B) 2Adisatati salUlell AHadl
aud

(C) ivsoiati sudlofl Geddonall
Bawd

(D) 2ddisotati sfuUlofl ieNaua]
Baua

2181 ol 21é)-112A1 gCioll A A oflA
AUNAl HisAxHL ARD vao uie 8.

i : ald] - | aél —
t — -
List -1 List I.I (216€) (vjeu)
(Term) (Explanation) )
a. Co-ordination i. Itimplies pursuit of a. A5G i. 2 2o (ol
common goals }gﬁ‘gd\‘ ETEY
b. Delegation ii. Monitoring 8
subordinates b. Yeuleset i éleflhaﬂ?lan1 .
c. Leadership iii. The orderly (Sclidteiet) ilsiziallg
fardlzie
arrangement of
group efforts c. aged iii. A134f&s MAcoNofl
d. Supervision iv. Authority is cgfead sNsaell
revocable by the
boss Y d. 2uidui iv. 8udl Afusidl g1
Codes : Asa Adi € 58 wsA
a b ¢ d a b ¢ d
(A) i i i v (A) i Wi i v
B) iii v i ii B) i v i ii
(€) it v i il (€) i v i il
(D) iv i @i (D) iv i i



87.

88.

89.

Which of the following is not an approach
to the study of Public Administration ?

(A) System Approach
(B) Structural-Functional Approach
(C) Human Relations Approach

(D) Personnel Approach

According to New Public Management
Theory, the administration is apparently
moving from

i. the duties of administration to the
rights of citizens

ii. decentralisation to centralisation
iii. rule to result orientation

iv. systems to enterprise.

Select the correct answer using the
codes given below.

(A) iand ii
(B) i, iii and iv

(C) iii and iv only

Yehezkel Dror refers to “Meta Policy” as
(A) Policy on Policy Making System
(B) Master Policy

(C) Super Policy

(D) Integrated Policy

" 8o.

87. olAaiiaiefl s 14213 ¥132 adlazai
0ARAe 242131 ciefl ?

(A) mendl ifbor3
(B) Hinwusla siafcas ilbi1a
(C) ot doitaN AAMd4o134

(D) sif¥is 2ile1a131

aidlot %13 AUIda RHELlia Yo adlue
2use 3uefl A1 dRg Ald 53| 8 D:

88.

i a€ladl sNell oPIRS) 858 dRs

i. f3odlsiel Zodls drg

i [raag]l uRenoyu ds

iv. MendizNefl sA d2s

oA al Ssaiel ARN vdio

WRie s2.
(A) it ii
(B) i, iii v4a iv

(C) s iii 4l iv

Yx3d QR“A2l WA 2feel 201 Ad
AN B:
(A) ofifa (a3l cag2a 2 Hlfa

(B) v oflfa
(C) udluil o4
(D) Adlga o4



90.

91.

92.

“Organization is the form of every
human association for the attainment of
a common purpose”. This statement is
given by

(A) J.D. Mooney
(B) L.D. White
(C) John M. Gaus
(D) Luther Gullick

Which one according to the Organization
for Economic Cooperation and
Development (OECD) is not a feature of
good governance ?

(A) Legitimacy of the government

(B) Accountability of the political and
official elements of government

(C) Bureaucratic control

(D) Competence of the government to
make policies and deliver services

The basic objective and features of the
Right to Information Act, 2005 include

a. to empower citizens

b. to promote transparency and
accountability

c. to contain corruption

d. not to disclose information which is
harmful to sovereignty and integrity
of India

(A) a and b only
(B) a, b, d only
(C) aand conly
(D) a,b,c,d

90.

91.

92.

“Aiod atoll undl AR g €28
Hiold A 24U A A2l 8.7l
Rigtiar A 5 ?

(A) R.91. ¥l

(B) Ad.9l. <qige
(C) %8lol Ad. MNA
(D) eyar IYfus

iifs AsSR ta RS A2 2AdIGel
(20.9.40.8)) ot Yool oflAxieNl 53
diel JWste aaier ol

(A) SRl SIUTARdI

(B) sRell sl dny A¥SR
a28\dll dicigfBal

(C) vindermdl da

(D) WsRefl ofifd failer day Aan
yaluisyiefl 2tidl

ailkdl sk lletAe-004 @l
Hoeld €A A gl § walde 82

a. oISl AUSA oyl

b. uReRTdl ia FUHERBAl Mgl
sl

C. GRZRIRA SIofi AU
d. elRdel wdelda Adnw Avilddid

dsaiet 52l adldl ¥FR o sl
(A) a dal b §5ct
(B) a, b, d g5t
(C) aa c §5¢
(D) a, b, ca d



93.

94,

95.

Panchayat Extension to Scheduled
Areas (PESA) Act, 1996 gives radical
self governance powers to the

(A) Tribals residing in VI Scheduled
Areas

(B) Tribals residing in the plain regions
of Assam

(C) Tribals residing in Nagaland and
Mizoram only

(D) Tribals in the States of Telangana,
Andhra Pradesh, Bihar, Gujarat,
Himachal Pradesh, Jharkhand,
Chattisgarh, Madhya Pradesh,
Maharashtra and Odissa

Which of the following is not an approach,
in relation to monitoring public policies ?

(A) Formative Approach

(B) Performance Measurement
Approach

(C) Managerial Approach
(D) Behavioural Approach

Which among the following is not an
e-governance initiative ?

(A) UMANG

(B) NRuM

(C) Mobile Seva
(D) PayGov

93.

94

95.

ARffua Kadai duria Rare
SIRIE) -1€ET (A1) Sl Vg
welatidtetoll ut 2 B?

(A) 21 uRRmeHi wAIfive dadai
8Bl AHikarRfA

VIRAIMel AU MEMAHI W¥al
iRl

H3 oiRii@os da A¥RHAI Wl
AIEARNA

daanen, sigmey, ReRr, yvid,
Baiud ugal, sivis, odldia,
HERAMER, HERINZ il 22l
A¥Aoll BAIERAA

(B)

(©)

ofldaoniatiel s ifdyorar M3 QA
tWIW Sdlell Ao oef] ?

(A) Wdlicas ildia1a
(B) sinNdl ycaise bt
(C) 2uicsla il

(D) ddoidid] ifdiata

oldottaiiell s3 -2iotofl UBa oifl 2

(A) UMANG
(B) NRuM

(C) Mobile Seva
(D) PayGov



96.

97.

Given below are two statements one
labelled as Assertion (A) and the other
labelled as Reason (R). Choose the
correct answer from the codes given
below.

Assertion (A) : The level of good
governance increases through citizen’s
participation.

Reason (R) : Citizen’s participation
enhances transparency and accountability
of the government on the condition that
the government is authoritarian.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Which of the following does not fall under
the functional area of NITI Aayog ?

(A) Policy and Programme Framework
(B) Co-operative Federalism
(C) Monitoring and Evaluation

(D) Policy decision

96.

97.

ofld 2cn sudaiel As [aid (A) B.
2al ofly srel (R) 8 oA 21l Sigaiel
AR wqIot yAE 5.

Ricsiol (A) : o1o1@iSlell eircfleidled]
YARAololl 3| qend &1y B,

srei(R) : ati1iA1Sofl eiNledl 2u81R0
yiedsdl il wUHERAtdl ged SR
B,uig MWa A D 3 AR AseeY
usrdl aaA.

Sig:

(A) (A) 21 (R) vioal 2A1R4I & ia (R)
A (A) ol ARN Aaxdl 8

(B) (A) 21a (R) vioal 2RI B uig (R)
A (A) ofl ARl Aaxdl ael

(C) (A) arRj B uig (R) viig B

(D) (A) v & uig (R) ARj B

ofldatiziieN s¢ clicia oflfd Rl
stddaml diiadl «@fl 2

(A) oifa a0 siisag Ay
(B) uesifl AHaRi
(C) [siel 2id Heisat

(D) ofift Rvas ek



98. Match List — | with List — Il and select
the correct answer from the codes given

below.
List —1 List-1
(Schemes) (Target Group)

a. Revamped Public i. Poorest of the
Distribution System poor
(RPDS)

b. Targeted Public  ii. Indigent Senior
Distribution citizens
System (TPDS)

c. Antyodaya Anna iii. Poor and

Yojana (AAY) Non-poor (Both

APL and BPL)
d. Annapuma Scheme iv. Backward

(APS) blocks
Codes : '
a b ¢ d
(A) i i ivo i
(B) iv i i i
(C) iii v i i
(D) i il i v

99. Which one among the following is not a
component of the ‘Sevottam Model’ ?

(A) Citizen’s charter

(B) Excellence in bureaucratic control
(C) Service delivery capability

(D) Public grievance redress

100. Which one of the following mechanisms

is used to exercise judicial control over
administration in India ?

Select the correct answer from the codes
given below :
i. Judicial Review
ii. Writs
iii. Public Interest Litigation
iv. Pre-policy making review.

Codes :
(A) i, ii and iv (B) ii, iii and iv
(C) i, ii and iii (D) i, iii and iv

08. AlEl-1 ofl Ai€l-1 2418 gcioll 5A al oflA
ANdl HisA Y] AR Y6 WRie 5A

4] -1 28 -1l
(Aorall) (AR 1Yg)

a. YURM ¥&R i. afioNati e
Ridrel caiq2e ot
(RPDS)

b. dzAuilld ¥Id ii. atflot aldvs
RidRe! carq2e otI18)
(TPDS)

C. VRNEU Vool iii. v1lel 2ial ofloi-
Avall (AAY) 21164 (cioal

APL 3 BPL
d. Aooryerl iv. usld odlgA
Avell (APS)
SIsy:
a b ¢ d
(A) i i iv i
B) iv i i i
(C) i iv i i
(D) ii iii i iv
99. ol siell sA) @es ‘AUH A
ol €125 ofell 7

(A) ePIRs ilksiR ust

(B) acermg] [sier i Avsal

(C) Adl RucRerai 21ata

(D) 3 i frare

100. qélddl BuR ouifis forusil 412 ofl Aol
siefl s¢ yeadlol oiRdai Gual
$JIHi 219 B 7

ol et Sguniel WA weuol uie s

i. oAlfs Al
ii. fle
iii. ¥1gAbdoll 22m
iv. yd-oflfa ferarfier 2uaflai
SlsU:
(A) i, i 249} v (B) i, iii 24a) iv
(C) i, ii da iii (D) i, iii q) iv
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